| Efficiency vs Dxy |
0.02

0.018F
0.016f
0.014F
0.012f

0.01
0.008
0.006

.......................................................................

.......................................................................

0.004F

0.002f-+svvviversssdcnonsd

1.

09 56-156-10 =5 0 5 10 15 20 25

—=— DQM_TT__mkFit-DQM_pless_orig

| Efficiency vs Dz |

—— DQM_TT__mkFit-DQM_pless_modi

0.07%

0.009f -+ e
0.008f -t S T
0,007 ool
0.00B b} TR |
0.005F++wwe-ve | -------- l -------------------
oeodt (I
0.003f it A *H L
0.002f++-w+-w0f 1l + + ------- 1 B
0.001F- ool A —
) TSP U RS PP AP B

A 1111 -
°®36 20 -10 0

10

2030



	Contents
	Page 1


